- IN DOUBT ASK

DRAING 19 381970 1 DO NOT SCALE | ~€B) - = THIRD ANGLE PROJECTION
Kit Contents
NEWALL Lathe Bracket Kit 3 - Metric
Part No: LBKO3-M
This kit mounts two Microsyn /MHG Series Reader Heads.
ED—2768/10 ED—2768/2 294—35540 294—35550
Angle 3x3” (1) Flat Plate Slotted (1) Micro Angle (1) Micro Plate (1)
MS x 16 Cap Head Screw (1)
M3 x 16 Cap Head Screw (1)
Single End Mount (1) M3 x 8 Grub Screw (4)
Cable Clamp (6)
M4 x10 Self Tapping Screw (6)
M5 Washer (1)
M4 x10 Cap Head Screw (6)
Cable Ties (10)
M6 x 20 Cap Head Screw (10)
M6 x 25 Cap Head Screw (2)
M4 x 12 Grub Screw (4)
M4 x 25 Cap Head Screw (4)
M6 Nut (2)
M4 x 20 Cap Head Screw (4)
M4 x 10 Cap Head Screw (4)
M6 Washer (10) M4 Washer (4)
note: some modification of brackets
may be necessary during installation.
TITLE. . SCALE UNLESS OTHERWISE TOLERANCES: — O DECIMAL PLACES £0.5
KIT CONTENTS [BKOS-—-M| . ____ N /A STATED: - 1 DECIMAL PLACE 0.2
2 DECIMAL PLACES 0.1
DIMENSIONS ARE IN M.M. ANGULAR +1°
71 [10/03/5 | 9451 | CHANGED TO METRIC KIT CWh  [oRAwN| C.WHITMORE | 08-01-14 E‘A, (LS DRMNG S THE PROFERY OF SHEE T |DRAWING REV.
REVISS|DATE|C.N.No/ ALTERATION rROD LeicesterN ALLEngIand THE INFCRUATON, THERELN WA NOT EEQPED RUSD 11 o 1 | NUMBER OZB_BW 920 ISS. W




e 023—81920[& 1 DO NOT SCALE | -@ - = THRD ANGLE PROJECTION|IF IN DOUBT ASK
Kit Contents
NEWALL Lathe Bracket Kit 3 - Metric
Part No: LBKO3-M
294—35540
ED—2768/2 _
Micro Angle (1) o / 294-35550
at Plate Slotted (1) Micro Plate (1)
75.0 25_4(1") 75.0
TAP M4 doff £ 4 OFF M6 HOLES 65.5 6.35(0.25")
& | / 2.3750~ | : — |-
S — = 132 TAP M4 THRO.—6off 140 470 TAP M6 THRO.—20ff
o 4 N o | % 20 105 / \
St ﬁ o |8 = g / 2T \N 2100k i
o IS ~ | 2 \ y (A s
b 70-] |- —" o | H\feo—A o |5 |
ol 20.5| 34.0 e o S RRz,.o
2.3756- I 655 | 6.35(0!25") N N ::: *[] []9 -
2.3756 5o — '\—r © ® %' o —
1 0] —r‘l K L15— 0.0 34.0_| |—.7'0 ﬁ
SLOT 4.5x8 — 2off V i i 0.5 54.0
ED2768/10 294—-39910
Angle 3x3” (1) Single End Mount (1)
3" 8, 34.0
I ! : Lw_—| L o l E .
N I : T
" 2 SLOT 5.2 X 9
__ 34.0 18'OI n 8 l.ﬂ—'-
—_ = T "__|¥|"_
. ¢ @ ol 70 M3 THRO' 4o '
%) O
4 OFF M6 HOLES/
TITLE. MATERIAL /FINISH. SCALE | UNLESS OTHERWISE  TOLERANCES:- O DECIMAL PLACES +0.5
K/ 7_ CO/\/ TEN 7_5 ABKOJ—M ______________________ N/A STATED: — 1 DECIMAL PLACE 0.2
2 DECIMAL PLACES 0.1
DIMENSIONS ARE IN M.M. ANGULAR L
71 |10/03/15 | 9451 | CHANGED TO METRIC KIT CWh  [orawn| C.WHITMORE [08-01-14 1S DRAMNC S TE PREERT 0F SHEET [DRAWING REV.
REVISS.[DATE|C.N.No] ALTERATION RO LeicesterNEWALL England| M NORATHEEI UM AL ESPE RUD 14 oF 1 | NUMBER 023_ 8w 920 ISS. W




DRAWING
NUMBER

025—

31920 ss.

NEWALL

Cross Slide (X—axis)

Part No

DO NOT SCALE | ~@ ~ =—3~ THIRD ANGLE PROJECTION|IF IN DOUBT ASK

Kit Contents
Lathe Bracket Kit 3 - Metric
: LBKO3-M

Reader Head

294-39910
/ Microsyn Scale
/ [
©
4 off M3 holes, A4 ﬁ ﬁ &
Insert set screws
and asjust as needed ® ®
294-35540

Longitudinal Axis (Z—axis)—Method 1

Longitudinal Axis (Z—axis)—Method 2

J L

’///////ED—2768/2
294-35550
[e) |

©

@__

ED-2768/10

294-3555

TITLE.

KIT CONTENTS LEKOS—M

1 DECIMAL PLACE 0.2

MATERIAL /FINISH. SCALE | UNLESS OTHERWISE  TOLERANCES:— 0 DECIMAL PLACES +0.5
______________________ N /A STATED: —
DIMENSIONS ARE IN M.M. ANGULAR

2 DECIMAL PLACES 0.1

+1°

1 [ojifs [ 9451

CHANGED TO METRIC KIT

CWh ORAWN C.WHITMORE | 08-01-14 NEWALL

REV.ISS.|DATE|C.N.No.

ALTERATION

APPROVED

Leicester

THIS DRAMNG IS THE PROPERTY OF
NEWALL NEASUREMENT SYSTEMS LMITED. SHEET DRAWING O 2 3 L 8} 9 2 O
England|  TE NORIATOU TERCOU AT ADL B OPED O USD 1 oF 1 | NUMBER

REV.
ISS.

|




